Section 6.7 : Trigonometric Equations

EXx: Find the number of solutions over the given interval

1) 2sin@ cosf =-cosd [—37”,577[)

2) —2c08°0-1=0 , [z, 7]
3) 2sec’d—secd-1=0 [—%,Zn)

4 2sin“9=1 |, [—37”,3#]
5) tan°@—2tan=0 , [-7,27)

6) cot°’d=cscd-1 , [-x,7)

7) 3cosfd—1=2secd (—3777,%)

8) 2sind =sin20 [—377[,7[)
9) c0s° @ =sin@+sin*6 [—72',%]

10) sind—-2cosd=0 [—7[,%]
11) sindcosd =-sind , [-x,x]

12) cos@d =cos26 (—%,7[]

13) Standsecd—-4tand =0 , (-x, 7]

14) 2cot* & =coté [—ﬂ,%)

15) tan@ =coté |, [—2%,%]



